copyright (©) 2017Sur'e|yWork.co [6rammarDual+Question FifkZ By~ » 3 #LL ] 6DQ3 Lesson36 ZEhRE

W3 RAT Z0 LwAldh  Zh Iz LD EoL H<TED
* ’5@ 3¢ W ﬂ%Euﬁ) E F&: TREn) TE5795) M%) (S+V+0) S(subject)- = &5 + V(verb)- &) il + O(Object)- H #J &k
According to the color of this sentence: The lady was given a carnation by the president of her company.

TRNGL: The lady was given a carnation by the president of her company.
@ My neighbor
@ The speaker
® The engineer

TRNG2: The lady was given a carnation by the president of her company.
@ delivered
@ sent

TRNG3: The lady was given a carnation by the president of her company.

@ dll the staff
@QTQC ®@ the boss
UsEs mlnng-;m; of eTOC are
strictly PRONIBITED.

* HARGHIEIT 2 A CHRGRICIRL TE > CTAE L & 9, *Tryto translate into English by yourself without
looking at the English part and say it out loud. Teacher must check their answer.
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* Let student try to memorize these sentences. Please use direct method, same as Callan way.

examplel: She was sent a christmas car'd by her husband.
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example2: This beautiful ring was bough‘r for me by Brad.
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USE & PRINTING outside of eTOC are
strictly PRONIBITED.
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* Try to translate them into English by yourself and say it out loud. Teacher must check their answer. These
answers are the same as the given Examples.
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